Section 1.2 Addition with Whole Numbers and
Perimeter

1. Review Addition Facts and Algorithm: Please review your
addition facts and the addition algonthm (the process for adding
“numbers).

2. Vocabulary If a and b are any two numbers thenthe sumofa
and b is a +b. To find the sum of two numbers we add them.

I

English words _ - - Math symbols
thesumofaandb . Jatb =
the sum of 4 and 8 “4+2
the sum of y and 2 | | u; ¥
8 morethan 9 | " Vgq+g
5 more than X RS ’ ¥ +5
y increased by 5 o u 45

Example: Transfate each Enghsh phrase into math symbols.
a. the sum of b and 10
. ‘b tI0

b. the sum of p and g

c. p increased by 5

d. 7 more than z - % _&_—%\

Example: Find the sum of 10 and 18.

o +1g = 2.8

Note: Porlions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague



3. Properties of Addition: The three properties of addlt[on are:

¢ the addition property of zero

¢ the commutative property of addition

¢ the associative property of addition.
These properties are statéd below. On the first test, you may be
asked to state these properties in proper mathematical vocabulary.
You should memorize them as given below.

Addltlon property of zero: Ifais any number then it is true that
a+0=0+a=a
Commutatlve property of addltlon If a and b are any two numbers,

then it is true that:
a+b=Db+a - -
Associative property of addition: If a, b, and ¢ are any three
- numbers, then it is frue that:
(a+b)+c= a+(b+c)

Example: Rewrite each of the followmg using the addition

property of zero.
a. 5+0=0+5=5

b.z+0= DR T T

Example: Rewrite each of the following usihg the commutative
property of addition.
a. 5+7=7+5
boz+8=Q 42
c.2+(4+5)= (4+5) +2
d x+(z+9)= (_%‘%‘ﬂ =X

Example Rewrite each of the followmg using the associatlve

property of addition. :
a. 3+(B5+8)=(3+5)+8

b.oz+(x+6)={2 + ;{) + 6
c. y+{p+4)= (\j 1—[3)+~g'

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague '



Example: Name the addition property or properties used in each of
the following.
a. 4+ (5+6)=(4+6)+5 (both comm. and assoc. prop. of

addltion are used since both order and grouping change)
b. x+2)+8=x+ (2 +8) Assecizhive ?m@e{fp ® % Mé&d hﬁw

. y+ErH=yrGrH Commutahie %mwﬁ?géfAﬂ%mm

d x+(4+7)=(x+7)+4 Both Commutative sk Assocrahines
Pre ponties of Addat o weone wsed

. 4. Solving Equations By Simplifying and Then Guessing the

Answer: In the given equations, first use the propertles of addrtlon to

simplify, then "guess" the solution.

Example: Simplify and solve:

an+3=8 :
n=5 guess the solution
b.(x+4)y+5=12 given eguation
X+(@4+5)=12. -associative prop. of addition
X+9=12 " addition facts |
X=3 ' - guess the soluti‘on.

C. 5+(6+x)=14+2 | N
(5+6) +x = 16 ‘A%accécﬁw i M"f ivfe@u.{vaeﬁ

W+ x = Lk A ddation Fae;‘{g

VL ‘S:‘w\{'e 5 =16

X239 (62 & |s 4re,
- . Polygons A polygon is any closed geometric figure, with at least
three sides, in which each side is a straight line. Figures such as
- rectangles, squares, triangles and octagons are all polygons. A circle
is not a polygon since it dbesn.’t have “sides” that are 'straight lines.

6. Perimeter: The perlmeter of any polygon is the sum of the lengths

- of the sides, and it is denoted with the letter P. To find the perimeter
~of a polygon, first label the sides with letters starting with the letter a,

and then write the formuia for the perimeter by writing P=a+b+.

expressing P as the sum of all of the letters representing the 51des

Next plug in the known values for the sides, and lastly find the sum to

get the perimeter. Be sure to attach the correct units to your answer. - -

Note: Portions of this document are éxcerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague
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Example: Find the perimeter of a triangle with sides 5 ft, 11 ft. and
21 ft. Write the formula plug in the known values, and find the

perimeter.
P=a+b+c S_-inﬁce there are three sides, you
" need three letters to represent the
' : - sides.
P=5+11+21 ~  Plug in the known values. _
CP=37f. - Find the sum to get the perimeter.

Attach the correct units.

Example: Find the perimeter of the given figure. Write the
- formula, plug in the known values, and find the perimeter
T b o=ae |

e SFF
= 71t _ _ 13\ ft@é

2ft. = €

This figure has [~ sides. Write the fofmuia for the

PIMEET P=adb ke *d te T

Not;ce that the Iengths of two of the sides are not given. Locate
" the horizontal sides. There are _3_ horizontal sides. The sum

of the two short horizontal sides must equal the length of the

longest h.Oriz_'c_)'hial_ side. The longest horizontal side has length

22 4% . One of the shorter horizontal sides has length
\% -@-\ What is the length of the third honzontal side?
4 22 = @ + 13
Qq =

Use this same pnnCIpIe to find the vertical side that does not

have a given length.
Now the lengths of all the sides are known Plug those {engths
mto the formula, and then addgthem to find the perimeter.

S(3E) ALAB) 4 (5P HIBER 4 (208) +Q2FE)
?*(m% + Q&N %wég,%w | |

Note: Portions of thlS document are excerpted from the textbook Prealgebra 7" ed. by Charles
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Section 1.3 Rounding Numbers, Estimating Answers
and Displaying Information

1. Rounding numbers: In.order to round a number to a given
decimal place, :

1. Note the decimal piace in WhICh the roundlng is to occur.

. 2. Locate the digit just to the right of that place.

3. If that digit is less than 5, replace it and all digits to the right of |t

with zeros.
4. If that digit is 5 or greater, replace it and all dlg:ts to the right of
it with zeros and then add 1 to the digit in the * roundmg place |

Example: Round to the indicated place.
a. 2345 to the nearest ten.

2,345 & 2,350
Ry

b. 2345 to the neé-rest hu_‘ndred_
2, 2}35 A 2300

¢c. 23.954 to the nearest hundred.

3%%&‘-& 2 24,000

2. Rules for rounding in calculat:ons When you are completlng a
calculation and are asked to round your answer, do all calculations

first without rounding and then round your final answer. {2
Example: Multiply and round to the nearest ﬁundre‘d. 235
235(446) = lo4 210 \ '3 x 446
T AU E T ©
Vv ojo4 800 | + 44 0
v !04 g_gg - ?ggao
1w %ﬁ 510

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
MeKeague



answer.

- Example: Estimate the sum of the three numbers 435, 761 and

3. Estimating: When estimating the answer to a calculation, use
rounded numbers to do the arithmetic. You don’t need to round your

997 by rounding each number to the nearest ten.

Yzg +361 + A9F A= HH40 + 760 + 1000
Y BN U o 22 00 |

4. Displaying data: Data can by displayed using tables, pie charts

bar charts, or graphs

Example: The following table lists the number of calories
consumed by eating some pop_ular fast foods.

Caiorres in Fast Food

\
440

V760
Lo

W

. . Food Ca!orres_ ‘
c ‘McDonald’s Hamburger 270
' ' _Iurger Klng Hamburger 260
| Jack-in-the- Box Hamburger 280
McDonald’s Big Mac ™~ 510
Burger King Whopper - 630
Jack—m—the Box Colossus 940

Make a bar graph dls'pl-a'ymg this data. 4up

¢ alortes £

150

g’“‘\

McKeague




i

o

Section 1.4 Subtraction with Whole Numbers

1. Vocabu,!ary-: The difference of two numbers aand b is a—-b.

Engirsh Words Math Symibols
The difference of 9 and 1 g =i
The difference of m and 4 -4
The difference of 4 and m Y an
3 subtracted from m WA —%
5 decreased by x 5 -X
- [ x subtracted from y :}5; —X

2. Subtraction algorithm: Please review subtraction facts and the {
subtraction algorithm, including the borrowing ;Zchn_ique.

Example: Simplify.
a. 2462-584 =

#

b. 457-298 = |59

|88

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
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Section 1.5 Multiplication with Whole Numbers

1. Definition of Multiplication and Multiplication Notation:
Multiplication is repeated addition. Thus, 5times 8 means 8+ 8 +8 +
8 + 8. To denote multiplication, you may use a dot, parenthesis or 'x.
Since we often use ‘X’ for a variable in algebra, the dot or parenthesns
notation is preferable.

To write 3 times 4 in math notation, you can write

3e4, 3(4), (3)(4), or 3x4
2, Vocabulary The product of two numbers aand bis aeb. The “a”

and “b” are called factors. The product may be written “ab” (omit the
dot between the letters) if the at least one of the factors is a variable.

__EnglishWords [ Math _Sym'b_o_ls_
The productof 2 and5 | 'z | 5
The productof2andy ' 3
The productmandn =~ | \M{/\.
The productof x and 2 2R
| The productofpandg =~ | %,,

3. The Distributive Property ifa, b and c are any numbers then
a(b+c)= ab-+ac ‘

Example: Use the distributive property to simplify:
a. 5(4+3) S4e63=20 HSF 35

2+6) =724 = 1% HHL R 56 |

b. 7 (

c. 2(x+3)= 2-x 23 TEF6

d 3y+7) * 3y +3:7 = 3y 42| -
e. 5(m+3)=Swa t53 = Sm S

f. 6-(x-+-6)- = 6 X Lo = A% -%»Ss’@ ._
g 8(21+1o) 82 +g 0 T )68 %39 = Q48

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles

~ McKeague



When expressions such as those above contain “like quantities”
inside the parenthesis, there are two ways to proceed in simplifying:
e you can first perform the addition or subtraction inside the
pareritheses, and then perform the multiplication, or
s you can use the distributive property, and then simplify.
However, if the quantity inside the parenthesis contains “unlike
quantities”, you can’t do the addition or subtraction first, so you must
use the distributive property in order to simplify.

Example: Simplify each of the following by adding or_
subtracting first, then performing the multiplication.

a 5(4+3)=5:F =35

b. 7(2+6) = F€=56

c. 8(21+10)= 83} = 248

4. Geometric Representation of the Distributive Property: The
d_i'stri-butivie property can be shown g‘e_om:_etricai!'y as- follo'ws:

Example Show the distnbut:ve property geometrically.
a. 3(4+5) = 3e 4+3e5 :
- Use 3rows, 4 X’s and 5 O’s

(xXXX00000) (xxxX) (00000
IXXXX00000 | XXXX| + 00000
XXXX00000 )  [XXXX 00000

b. 52 +6)

5 600080
KKGG@QQQ ié;: (’\‘@ﬁﬁgﬁz}
X % 000000 131\ Ippp000
%xxaw%ﬁ? L?wc . log6000
(X %000 XX 029G
(xxo00000] o Weese

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague



5. Distributive Property and the Multlpllcatlon Algorithm: The
multiplication algorithm is based on the distributive property To
see this, consider the following example:

Example: Simplify.

a. 25(12) = 25(10+ 2)
=25010+25e2
=250+50

=300
Example: Multlply the following numbers in your head. :
a. 25(14) = 25 (io44) 25710 25 =250 +{00 2350

b 15(12) = g(on} aﬂszmlso.t%e *geé
c. 22(13) = za( @-t%}’ '22 D +223 T 220t66 = 28

6. Multiplication Algorithm: Please review multiplication facts and

the multiplication algorithm. , <k zg
Example: Find the product of 849 and 76 ”h B vé;ﬁ;%m
- [ I
5 ??’
t59Yz25

. , [4 &{}S ¢
7. Properties of Multiplication: The four properties of multipfication
are: ' o :

 the multiplication property of zero

¢ the multiplication property of one

e the commutative property of muitiplication

o the associative property of multiplication.

‘These properties are stated below. On the first test, you may be

asked to state these properties in proper mathematical vocabulary.

You should memarize them as given below:

Mulhpl:catlon properly of zero: If a is any number, then
- ae(0=0ea=0 |
Multipllcatlon property of one; Ifais any number, then
. asl1=1ea=a |
Commutative property of mult:pilcatlon If a and b are any
numbers, then - :
aeb=Dbea

Note: Portions of thIS document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeagtie
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Associative property of rh'ulti’plication: If a, b and ¢ are any

numbers, then
| a(bc) = (ab)c

Example: Name the property or propertles that are lliustrated in

each of the following.
d. 3(4 7) (3 4) o7 ) Aﬁsbﬂi-ﬂ\.‘%ﬁ;ﬁ-@ a’@@&{% &‘ét" @m}§fﬁi‘?€?§}5m

& weal h‘p&;m%}bw

b. 4(8 ¢ 9) - 4(9 ¢ 8)- e Q_WMQ«?%&%’W Propertn

C. 5 e0=0e5= O %\j‘gﬁ p&@%’mm @%fa\@i&t} éj@ a0

Botn the Cowmtabin %@Mﬁ ML &

d. 6(7e2) =(6e2)e7
(722) =(6+2)+7) ke pssondatine %?vf% it
8. Solvmg Equatxons by Inspection:
Example: Solve by inspection.
a, bn=25 5 (%’} 2’“{ . .,%, [
n=5 (guess the solution) 2§ =25 s Tee
b. 7Tn=28 o . |

9. Multiplying by Powers of Ten: To muiltiply by a powér of ten,

" count the number of zeros on the power of ten and place that many

zeros on the end of the other factor to get the answer.
Example: s
a. 10027 = 2700 ;
b. 10,000e82 = %7 0000

. 1,000,0000132 = (372,002,200

Note: Portions of this document are excerpted from the textbook Prealgebra 7 ed by Charles
McKeague -
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To multiply by a number that ends in zeros:
1. Drop the zeros.
2. Multiply the two remaining numbers.

3. Place the zeros at the end of the product.

Example: |
“a. 27003 =8100

_b. 4202000 = €4,0€00

I, B

c. 32,000e80 = 256 0P0O

McKeague

i

Ry

e wa\i*‘ P

7 W
ol Rl

25

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charies
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Section 1.6 Division with Whole Numbers

1. Notation: Division can be written in four ways. For example, to
write ten divided by five, we could write any of the following:

= o 10 40/
10+5 or 3 or A or

2. Vocabulary: The quotientofaand b is |

a+b (org’or a/b or b)_a).

" The number that you are dividing into, the "a" in this case is the

dividend, the number that you are dividing by, the "b" in this case is

the divisor, and the quotientis a+b (_org or a/b' or b)_a)-._

English words | Math symbo!s
10divided by 5 f ‘ (0%'5 :
23 divided by 8 | 235 &
8dividedby2s ngﬁ
| x divided by 5 - | x«-—‘i
the quotient of 12 and 3 2= 3
[the quotient of 12 and x e X

- 3. The Meaning of Division
- Division is repeated subtraction. Twelve divided by four is three since

12-4-4—-4=0. In words, you can subtract three fours from twelve
before you get to a number that is smaller than four. The last number,
the one that is smaller than four is cal!ed the remalnder In this case

" ‘the remainder is zero.

You can check any division problem by muit!phcation
- - 35+4= 8R3_ sO B8e4+3=35

Note: Portions of this document are excerpted from the texthook Prealgebra, 7" ed. by Charles
McKeague -




' 58 of your textbook
Example: Simplify.
a. 4606 +~49 = 9%

17595
4E

b. - 344

5. Division by Zero Dlwsmn by zero is un%eflned but zero dlwdea
by any number other than zero i§ zero. Thus,
0+5=0 and 5+ 0 is undefined.

Example Simplify:

a. 8+0 13 uwMiMﬁ
b 1640 1 undletined

Example Write a division express:on that gives 0 as an answer
O+ =0

Example: Write a di ivision expression that is not 'e_fine_d.

Note: Paortions of this document are excerpted from the textbook Prealgebra 7" ed. by Charles
McKeague



1.7 Exponents, Order of Operations and Averages

1. Exponents: An exponent is a number that indicates how many
times the base is to be used as a factor. Exponents indicate
repeated multiplication. The base is the number that is multiplied.

Example: Identify the base and the exponent: 23
Twois the base and three is the exponent.

Example: Simplify.

a 32 =33
b: 2% = 2.2
. = WiZ
=% Pk
c. 4 = 44 T
= {4 ~x’%
7 = L4 o
d 5% = Sis |
=25

2. Zero exponent: Any number other than 0 raised to the zero
power is 1.
Example Simplify.

a 20 = |
b 15% = |
c. X’ (assumethatx is notzero) ¥ = !

Example: Write an expressior that contains an exponent and that
has a value of 1. o
o as5o023 = |

'd )

Note. Portions of thils document are excerpted from the textbook Prealgebra, 7™ ed. by Charles
McKeague .



3. Order of operations: When evaluating mathematical
expressions, we will perform operations in the following order:
First: If the expression contains grouping symbols, such as
parenthesis (), brackets [ |, braces { }, or a fraction bar, then
we perform the operations inside the grouping symbols, or
above and below the fraction bar, first.
Second: Evaluate, or simplify, any numbers with exponents.
Third: Do all multiplications and divisions in order from left to
right.
Fourth: Do all additions and subtractions in order from left to
right.

Example: Simplify.

a. 2+3e5 (operations of addition and multiplication are present)
=2 + 15 (perform multiplication first)
=17 (perform addition second)
b. 3+2e4? (operations of addition, mult, and exponentiation)
=3+2¢16 (do exponents first)
=3+32  (do multplication second)
=35 (do addition third)
c. 203+4(8-3)" 23 +4(s)
= 6
= 6+2o
g _Av6e3 O
15-(9-5) T
1
. Hig -5
15 - {4)
| shwls
e. 3+2(17-3%) = 9416 2223
=3 42013 -9) -~ 25 =]

=3%32(¢)
=94 2.8

Note: Pertions of this document are excerpted from the textbook Prealgebra, 7™ ed. by Charles
McKeague



4. Averages: There are three types of averages: the mean,
the median and the mode.

Mean: To find the mean for a set of numbers, we add all the
numbers and then divide the sum by the number of numbers in
the set. The mean is sometimes called the arithmetic mean.
Median: To find the median for a set of numbers, we write the
numbers in order from smallest to largest. If there is an odd
number of numbers, the median is the middle number. If there
is an even number of numbers, then the median is the mean of
the two numbers in the middle.

Mode: The mode for a set of numbers is the number that
occurs most frequently. If all the numbers in the set occur the
same number of times, there is no mode.

Example: Find the mean, median and mode of the set of
numbers: $35,344; $38,290; $39,199; $40,346; $42,866.
35349 + 38248 -»zagi% + 40, Bb THEIBE

W%ﬁ;ﬁ“‘*‘
AR §Qé@%5 p

rean $‘“‘*“’“"‘§‘“"‘"""’” : g“‘gg‘;&%%g ﬁgggéﬁ £ 3&’? gwfﬁ ﬁff‘fig%M Yz 866

Whean = 29 209 s@fwfaé,m% (widdly )
Mo gimi@ E ' The wagddan [ 241409

txample Find the mean, medlan and mode of the set of
numbers: 77, 87, 100, 65, 79, 87 79, 85, 87, 95, 56, 87, 56,

75,79, 93, 97, 92 . 103 44
PWALon = ’?_?n-‘rg”’ Loy &5& Wh S G AR A B ST Wfi%jé E3 756 ‘ﬁvw*:%"j fé? +43 ?W?% B

ot RN e e T SO M e bt s i 3 oo

= : V8
WA e T A 35 ‘?“% ’ e e e i e oo e T i
LB : : e _
B o T i . N N £
Wtam - €1
i ' 56 Sl 40 € FEEL "ﬁ*’?i{”ﬁfﬂ“{:ffﬂé??i«?g%?ﬁgg‘?{fiiﬁ-"2-341%5'@3,&1
PR e e i ) : : ; #
M Wagde (¢ Lm0t F
i‘?{:{aw Yo : y . N,
S N dimes, : , Wlegddaw s P57
Y - jm
VAZSL A = L&%;E“
2 s A
’:;f_‘ '{j@{%}% 4 :;?

Note: Portions of this docurnent are excerpted from the textbook Preaigebra, 7 ed.’by Charles
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5. Vocabulary: We will now translate into mathematical symbols
English phrases that contain complicated expressions involving the
terms sum, product, difference, and quotient.

English phrase | | Math sym bols

sumofaandb ateb

two times the sumofaandb

product of p and g

product of p and the sum of a and
b

sum of p and the product of a and
o |

difference of p and the sum of a
and b

sum of the product of a and b and
the product of cand d

Example: Translate each phrase into math symbols.
a. product of 4 and the sum of 3 and x

Yl +x)
b. difference of 4 and the sum of 3 and x
Y = (3+x)
c. sum of the product of 4 and 3 and the product of 2 and 5
4z x2S
d. twice the product of 4 and x

2’(QX)

e. twice the sumof 8 and 5

2 (815)

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague



1.8 Area and Volume

1. Area: The arearof a flat object is the amount of surface that the
object has. Formulas for the area of some common shapes are given
below. You must be able to recall and use these formulas. Units for

all areas are always square units, such as in? . ﬁz, mz, etc.
Square: A = (side)(side) = s?
Rectangle: A = (length)(width) =
Parallelogram: A= (bas‘e)(height) = bh

Example: Find the 2 area of each figure. Wnte the formula flrst
plug in the known values, and then perform the computations to

find the area. .
a. A square with side 10 cm.  15¢m. fr;:» S .
| Y Az ((0ew]
1O Ubew, LT %
b o Cfrm [Bhewn
102, '

b. A parallelogram with base 15 in. and height 4 in.
f%~ =bh

/W%w. ﬁ§§“wa %3%3
Y SN

c. A rectangle with length 7 yd. and width 9 ya.

wwﬁ*’iﬂ’?f' yd iérm ’“{w
pr= (jyg\ﬂi

WMM W@ﬁ

\M\.A% Ay 4 o A e 63 é%

{L‘%WWWM

2.3

R——

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague '



2. Areas of Composite Figures: Some figures that are not
squares, rectangles or parallelograms can be broken into pieces each
of which is a square, rectangle or parallelogram. These figures are
called composite figures. The area of the composite figure can be
found be adding together the areas of the pieces.

Example: Find the area of the composite figure given below.
Be sure to use proper format for showing your work: write the
formula(s), plug in the known numbers and then compute the

area.
is |
ik &t 12 ft.
v
15 ft. )
‘ 9 ft.
27 ft. 2= 7 Ei

This figure has _ 2 _sides. Notice that the lengths of two of
the sides are not given. Locate the horizontal sides. There are
_ 3 horizontal sides. The sum of the two short horizontal
sides must equal the length of the longest horizontal side. The
longest horizontal side has length 2 74 . Oneofthe
shorter horizontal sides has length {264+ What is the
length of the third horizontal side? ___ 1§ £+ ,

Now, use this same principle to find the vertical side that does

not have a given length. 'S 8= gi?%h -} é\;ﬁ?ﬁ

Note: Portions. of this document are éxcerpted from the iextbook Prealgebra, 7" ed. by Charles
McKeague



Now that we know the lengths of all six sides, we must break
the figure up into squares, rectangles and/or parallelograms
and find the area of each piece. The sum of these areas is the
area of the given figure.

ISPt =wx
126t = W
= W
iﬁﬂ e 15 L. Rectangle
‘ ' : ' Rectangle II | 9ft.
- ’éﬁf ,
_ s
L o2 1
27 ft. S £ i
x 15 7
Area = Area Rectangle | + Area Rectangle il = ol
. Ap + A /oot '
W-,;j o i@ 450 335
= & '3:* fpNp 775

Yira
= CISEEY sy (afR(! (o]
- g,gg ?,4,’2» 1108 A47
A =32384%
o Example Find the area of the given composite figure. Use the h SPaaie
proper format for shawing your work.

.
18
R
16ft, = e
We 73
L
7 ft. SPE D
5 e *ﬂg’;m A// ﬁwﬁw%gmm?
- Ly “%* 2 "fs‘kﬁ W A N B
ag%ﬂv - ggﬁﬁ § {3 ot = w%émﬁ
e . Retanasle _
' ' L. 11ft =
o A vA g I
s‘fﬁ‘t: 4 E:_. : i ¥ g
E) z g H
= Ay Wy b {wa -
s Ao ey 29 ft. i -g Q‘_ ‘
= (ge168) + {11PellBET) . | 2
ik dga-. 3 i
= 2gp gt b ANg ! -
# . 5 . ; 5
L L? ol . W‘
Note Portlons of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles. : § % &
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3. Volume: Volume is the measure of the space enclosed by a
solid. A rectangular solid is a solid in which opposite sides are paraliel
and in which sides meet at right angles. The formula for the volume of
a réectangular solid is:

V = (length)(width)(height) = iwh
The units of volume are always cubic units, such as in’, ft*, m’, etc.
If you look at any comer of a rectangular solid, there are three edges
that come into that corner. Name any one of these edges the length,
another the width and the third the height.

Example: Find the volume of the rectangular solid. Be sure to
use proper format for showing your work: write the formula(s),
plug in the known numbers and then gompute the area.
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Solids can be composed of several rectangular solids that are
“stacked” together. To find the volume of such a composite
figure, break it up into pieces that are rectangular solids, find
the volume of the rectangular solids, and add those volumes
together to find the volume of the composite solid.

Example: Find the volume. Be sure to use proper format for
showing your work: write the formula(s), plug in the known

numbers and then compute the area.
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